1.12 1) (2v5)" =8-5=40
(3¢/4)° =274 =108
Puisque 40 < 108, on en déduit que 2 V5 < 34,

2) (5/6)" =625-6 = 3750
(6/5)" = 1296 - 5 = 6480
Etant donné que 3750 < 6480, on en tire que 5 v/6 < 6 v/5.
3) (V)" = ((v3)°")" =4 = 256
(3)"° = ((v8)") =52 =21
Comme 256 > 27, on conclut que V4 > /3.
6 2\ 3
H (VB = ((v)?) =5 = 125
(Y10)° = ((+ 11)3)2 — 112 =121
Vu que 125 > 121, on obtient v/5 > v/11.
5) (V3)" = (({’/3)3>5 — 35 = 243

3
(¥5)" = ((\5/5)5> — 5 =125
Attendu que 243 > 125, il en résulte que V3> /5.
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